oooooogd
Ooog

1 OO0

cO00o00oO00o0o0oOU0O0O00O0O0O0UDO0OO000UD 1JO000oUDO0oOOoUoOO
gbooogo

2 O0OOoO oooboo

gbooooooobooboobooooooooooboooboobooooboooobooOooooooon
gooooooooo0o0oooooooooooroco"oboooobo0ooooooooooboooo
gooooooooooooo»0ooo’0oobooOoooooooD

e JJ0O0ODODDDOOD (ODDODOOOOD,000DDOOOOO, ..
— O int f(float a, double b);

gbobooooboooooooooooooooooobooooobooooboboooobo 10010000
00 (00000000 t0o0ooooo)o

gbobooobooboooo220000000000

gboooooooooboooobboobbooobooboooooooobobooo rToobobobooo
000000000000 (Doo0o0oUoOOo0OUOUoOO)0DO000U0OOO0DODUbLDOOOOn
oboon

oboboobobobobobobobob 24000030 000000000000000
xyOOOOOODOOOOOOODOOOUODOUOOUOOO0O0O0O000oO029000 return 00 (OO
00)y,000000000Oo0o0oooOoUoooOoo

boobooooboobooobooboboooRbooooOoooobooobox,yOoooooo
0000 sumO0000000return 0000000 zO00O00O0ODOODOOOOODOODOO
goo

0000000O000oO0o000oo0O0 (Oo0DoooOO0)b0 100000 oO0oooooOoo
gbobooocoooboobobobooooobooboboboobooooboooboo240000b000
gooooooooooooooobobooooobooooboooboooobooboboooooobooo
gboooobooboooogooboo
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000000 ?programming09’0 000000000000 O0OOC0OOODOOODOODOOOO
J00o0obob00O00dprogramming09 00 000OODOONO

22 00000

/K ok sk sk ok ook sk sk ok sk ok ok ok ok ok ok ook ok ok 3k sk ok ok kK ok
ooooooooon

ok K ok ok ok ok 3 ok 3 ok ok 3 ok sk 3 ok 3 ok ok ok 3k K ok ok kK ok /

#include <stdio.h>

int sum(int x, int y);

int main(){

int x,y,Z;

printf("000000000O0O0OO0O0OO:";

scanf ("%d", &x);
printf("000000O00O0OOCODOOOOO:");
scanf ("%d", &y);
z=sum(x,y) ;
printf("00%d 00 \n",2);
return O;

}

int sum(int x, int y){
/x 00000 =/
int a;
a=x+y;
return a;

}

23 00000

0000000000 O00b0DOO0O000 funcexamplec OO0OO0D0OOO0OO0ODOOOOODOO
000000000 exftuncOOOO

> gce -0 exfunc func-example.c
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26 UJUOOoono
2,61 OO0OO0OOOOOO

220000000000DOOO0OO0OOOOOODODODODOO0OObOODODODODOnb
0 (0o0o0)0ooOooo0o0o0O0U00 (DOo0)00o0L0oO000O00Oo00 (Doo)oooooo
gboboooooboooooboobooooooobOobooooobooooboobooonoog

3 oot oooooobbou-obbbobooobbboog-

gbooobooobooboooobooobooobobooobOooboOooboOooooooooon
gboooooboobooboooboboooooboboboooboobooboboooboboo

00000000000000000000 (000 )#include00000000000O0O0O
00000000000 (0D HYoooooo220000000000000000O0OOOOO
000000 my-calcOO0OO#includeOOOOOD0O0O0OOO0220000000000000
0000000 (0 2000000000000000000)000000#include<stdio.h>0
000 <O >000000000D000000DOOO0000P0"0000DO0O0000DDOO
00000o000o0O0U00o0O0U00o0O0U0Oo0O0OOo0U0O0O0DODO0OU0ODOOUOD (OoOo
oooooooooo)o

FARAEND
J74)La FUEERE Srqub

#include“b"<—‘ jpdajpdajpd jpdajpdajpd
Jpdqjpdqjpaq 2R (DT D R Jpdqgjpdgjpdq

hogehogehoge hogehogehoge

O I:include00000000D0OCOOODO

go0ooo0o0o0o0oDoOoo00ooooOoO00ooooOoOmy-cal DO0DOOOOODOOOOO
000000000 0my-calc00000000DO0O0COO0O00O0OO0O0O0OOOOOODOO
gobooooogo

0000oO0oO0oo0o00ooOo0oOoO0o0ooOoOO0o0oOOOo0DOoOoOoOooOOoODoOO (0O
00o0o0O00o0o0UoO0)UooooO0o.LW00O0O0O0O000ODO0O00O00OO0O0Oc(Ccoooon)
g000000DOO000b0O0O0Od includeDOO0D0O02200000000000000000O
000 (0300000000000 00D0O0O0D)O



It

IR
7 7 1 JL:func-example.c I 7 7 4 JL:my-calc
#include “my-calc” <+——

i

a)r‘ﬂi
sum@Es 2 28 JU(DRTILE) DR

int main(){ SUmDEH Eaiﬁo)g:stamﬁb\ﬁ

}

O 2:include0000000000O00O0OO

AR
7 7 4 JL:func-example.c I 7 7 4 JL:my-calc.h
#include “my-calc.h” +— e
#include “my-calc.c’ <— sumMDEE
BB D ERBLEENS
32 U DRE) DR fise
AL7OY54A
int main(){
2 74 JL:my-calc.c
sum® & A Y
) sum®MDERK

O 3 include00000000D0OCOOODOOOODOO

goooooooo’0oooor’ooobooobOo0Ob00o0o0oooooooooooooooo
000o0oo00o0o00oO00o0o00OoU00UO (CO0DoOO00L)0D0D0U0 (Doooooo
00)00000000oo00oooo00ooooUoooooooOo

gooooooboooooooobooobooooobooooboobDOoobooooooboOooo
0000000000 (o0 OO0O0O0D0D0OO0O0O0O0D0OOO0O0O0DODOCODOOOOOOn
0000000000 Dprintfd scanf0000000C00O00DOOOCOOODOOOOOOODOO
gooooooooooobooooboobooboooboooboobboobobooobooboobooo
000o00o00oU00o0oUo00000U00000000DU0OU00O00OD (DO)ooOooOOo
00 (000U0OO000O0oO000)0U0O000U0DO (bo)oooo

e J0I0ODO (DLO)=00000(0O)+0D0O

ooo (O 4)0

03000000000 ((@UU0o000)000o0o00U0000o0o0DUooOooooooOo
O0#include 0000000000000 O00ODOOOOOCDOOO0O my-calecO0OOOO0ODOOOO
g00ooooooooOoooooooooo

> gce -o func-example func-example.c my-calc.c

O000my-calc.c 0000000000000 OO0O0ODOOOOODOOOOOO

> gce -c my-calc.c

0000000000 00DoOdUD my-calco DO0ODODOODOOODOOOOOOOOOO
oooooogo

> gce -o func-example func-example.c my-calc.o

000000000 (00000Omy-calec.c00000000 (0D)000000D0O0O0OO0OO
oooooooooo)o



7 7 4 JL:my-calc.h

7 7 4 JL:func-example.c

#include “my-calc.h” - : sumMD E&H
int main(){
7 7 4 JL:my-calc.c
sumEEF #include “my-calc.h”
Y sumDEK
O o L)
7 7 4 JUfunc-example.o yos 7 A )bimy-calc.o

func-example® my-calcdA Tz +
AIzH b+

O

‘ ERITI7 A4 ILDOER ‘

0400000 (@00O0)000

3.1 Ouogon

220000000000 func-example.c 0 my-calc.hOmy-calcc 000000000 O0OOO
ooooo

3.2 0OUogn

gooooOoOoOoOoOoOoOoOOOOOODOODOODOOOOODOOO

> gce -¢ my-calc.c

O00O0OO0OOoOoOoOoOoOoOOOO0O funcexampleDOO0O0OO

> gce -0 func-example func-example.c my-calc.o

J00000o0oooOooooboDO00 funcexample 0000000000000 O0O0O0OOOO
oooooooooooo

> gce -o func-example func-example.c my-calc.c

3.3 Uggn

ggbobobobooboaboobuoobobobobbooboobodanda
gboooboooboooobobobooooobooboboooooobbooooobobon
gobooboobooboboooobobooobooboooono

4 U000 ODbOOooobouobbo -gb3bobuoobog-

00000 2000000000000 00000000DO000O0O00OU0O0UO 3000
(300)00000000000000O00UO0000O00OOUOO0O0UD (DOODoO)D 4200
o000 9gnooboooooboboo 3 oobobooooobo 28000000



4.1 00O
O0000oooooooooooooooooonogog
e bandit.h

e bandit00.0

4.2 00000

000000000000 000o0o0UD 1000000000 ooooDOO

T /ksksokokskokokkokokkokok okok sk kok ok Kok ok ok ok ok ok ok Kok o Kok ok Kok ok ok ok ko ok ok Kok
2 ooooDbOo 300)

3 skkskokokskokokskokkkok stk ok okok ok skok sk ko stk o sk ok sk ok sk ok sk ok sk ok kok o/
4

5 #include <stdio.h> /x DO0OD0O0OOOO0OOOOO */

6 #include <stdlib.h> /x OJO00O0O0OOO000O0OOOO */

7  #include "bandit.h" /x OO0O0OO00OODOOOOCOOO =%/

8

9 double armselect3(int first, int second, int third);

10

11  int main(){

12 int num_arm, loop, arm_select, selection[3];

13 double total_reward;

14

15 init_bandit(); /x 0000000000 %/

16

17 num_arm = get_arm_num();/* OO0 00000000000 =/
18 printf ("0 000000000000 %A00\n",num_arm) ;

19

20 /* 00000000000 (3000) */

21 for(loop=0 ; loop<3 ; loop++){

22 printf("000000OCO0OOOOOOODOO0O0O [1-%4]:",num_arm);
23 scanf ("%d", &arm_select);

24 selection[loop] = arm_select;

25 }

26

27 /* 00 armselect3 ODOOOOOO */

28 total_reward = armselect3(selection[0], selection[1], selection[2]);
29

30 printf ("0 000 :%1f\n",total_reward);

31

32 return 0;

33 }
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double armselect3(int first, int second, int third){
int loop;

double total;

/* 000000040 30 =/
bandit (first);

total + bandit(second);
total + bandit(third);

total
total
total

return total;

4.3 00000

000O00D0O0O0DO0ODODOOO00 gameplay-armselect3.c 0000000 OODOOOOO
000000000000 gameplay-armselect3 0000

> gcce -0 gameplay-armselect3 gameplay-armselect3.c bandit00.o0

4.4 0000

gbooooboooooobo3boobooboooobooboooogon

4.5 UOO0O0ooon
4.5.1 0OO0OO0OO

O00000000armselect3 00 0O armselect3.h 0 armselect3.c00000000000O00OO
O0o00oon

4.5.2 0DO000OOO0OOOOOOOOOOD

42000300000000000O00O0DOOOSDOO0VOODOOODOOODDOODOO
armselectb, armselect10 0 00000 00O

5 Uodod booooobobbooooon
420003000000000000000000000000000000000
e 000D0000000D000D0D0N00O

e JO00IDOOOOODOODOOOOODODOO
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gooooboooooboooboboooboobooooooooobooobooooogoooo
00000051000000 1000000 42000000000000000000 [3]00
gobO0o0obOoooooboocoboooboooobooooboooooooobo120o0goo 4000000
goboboobooobooooboobboobobloobbo 120b00bO0O0oO0bOO0bDOOobDDOobODO
obobooobooboobooooboobooboooboobooboboooboOo 3200000
0000000000000 (Dooo)ooooooooo

000000000000 0000000000000000o0oOon (double array[10] OO
10000000000)000000000oU0o0oO00o0DoO0oo0ooo0ooDoDoooUo
0000000000001000 (1200)00000 numtry0O0O0O

5.1 0OO0O0OOO

000000000000 0O0O0O0UOoO0 [1Joo0o0ooo0o0Uoooooo

/*******************************************************

oooooo @a)

st ok sk o ok K ok sk ok K 3k ok 3 ok sk e ok 3 ok ok 3 ok K s ok 3 ok sk ok K ok ok 3 ok sk 3 ok 3k 3k ok 3 ok k ok 3 ok ok ok sk k ok /

#include <stdio.h> /+ OOOOODOOOOODO */
#include <stdlib.h> /* OO0OOOO0OOOOOOOO */
#include "bandit.h" /+ OOOO0O0OOOOODOOOOO */

/* num_try 000000000 (selection[i]l O i+1 0000 %/
double armselect(int selection[], int num_try);

/* O000000d

double armselect(int* selection, int num_try);

*/

int main(){
int num_arm, loop, arm_select, selection[3];

double total_reward;
init_bandit(); /¥ 0000000000 */

num_arm = get_arm_num();/* OO0 00000O0O0000CO =*/
printf ("0 0000000000 00% 00 \n",num_arm) ;

/* 00000000000 3000) =/

for(loop=0 ; loop<3 ; loop++){
printf("O0 000000 0O0O0OO0OOOODO0O0O0O [1-%d]:",num_arm);
scanf ("%d", &arm_select);

selection[loop] = arm_select;
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53

/* 00 armselect ODO0OODOO (300) =/

total_reward = armselect(selection, 3);

printf ("0 000 :%1f\n",total_reward) ;

return 0O;

/ 000oooo

double armselect(int* selection, int num_try){

*/

double armselect(int selection[], int num_try){
int loop;

double total;

/* 00000000 num_tryO =*/

total=0.0;

for(loop=0 ; loop<num_try ; loop++){
total = total + bandit(selection[loop]);

return total;

5.2 0OO0O0OOO

O00D0O00000O000D00O000 gameplay-arrayselect3.c 0000000000000
0000000000000 gameplay-arrayselect3 O 0 00O

> gce -o gameplay-arrayselect3 gameplay-arrayselect3.c bandit00.o0

5.3 0O4OonO

oboooobooooooobo3boooboobooooobooboooogon

54 UOUOOOoOO
5.4.1 0O0OOO0OOO

O00000D00O0armselect 0O O arrayselect.h O arrayselect.c 00 O00000000O0DOO0O
oooooo
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5.4.2 0OO00O0OO0ODOOODOODOODO

5.10003000000000000O0O00b0O0O0S000100000000000000O00
gbooooooo

543 0O000OOODOOOOOOODOOO

5100000000000 booOo0oooboOoooobooOo0ooobboOooobooOboooobooo
gobobobobooboobooobod

6 0000 ODOOODDOOOO0ODOOOODOO
00O000000000000
e 0000000000 (0000000000, 0000000000,...)
— O int f(float a, double b);

gboooooboooboooboooooOooooboooboobbooob 1001000000000
O000O00D0O0O000003000000000 armselect3 d armselect 000000000
gbo3tbooooobooboobooboobooooboobooobooDobooobooDobDooo
gboobooob3gooooboooboobobooobooboobooooooobo 3gbooaon
gboooooooboooboooobooobooboooboobooooOooobooooobooOoooaon
goooobooooooooboooboobooobooobooboobooobooboooobooooooon
gboooooobooobooooboo

gboooooboooboobooboboobboooooboooboobooboobooboboooo
gboboooboel00O0OO0O0OO0OO0OO0OOOOODOOOOOODOOO 200000000000
gbobooooboboboooboooobobssbon 42000 200000000000
goooooooooo0ooooooo0oooboOoooooooooobo0ooD 2000 270
gbboooboooboooooooooooooooooooooooobooooboooooooooaon
000o00d0o0o0od0o0o0o0oo0o0o0oo0o0o0o0o0o0 (Dooooooooo)H)ooo
goooooooooooooooobooooogoobooooboooboboobooooooobooooo
gbbooboobooboobobooboouoboobOodbOdpointer OO O pointerarray U 0 0 0O O
00000 int*p0O0OOO0O (UO0OOUOOOUOODOOOO)0ODOOOUODOOUOOOOO
gboboboooooooo

6.1 0OUggn

/********************************

gooono

********************************/

#include <stdio.h>
#include <stdlib.h>

10
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int normal(int input);
int pointer(int* p);

int pointerarray(int* p);

int main(){
/x 0000 =/
int input;
/+ 000000 */
int *pointerl, *pointer2;
/ 000000 (gO) =/
int *parray;
/= 00 =/
int array[10];

/+ 0000000 */
input = -1;

printf ("input = %d\n",input);

normal (input) ;

printf ("input = %d\n",input);

/ 000000000 =/

/* pointerl O input OO0 =/

pointerl = &input;

*pointerl=-2;

printf ("*pointerl = %d\n",*pointerl);
pointer(pointerl);

printf ("*pointerl = %d\n",*pointerl);

/* pointer2 000000 =*/

pointer2 = malloc(sizeof (int));
*pointer2=-3;

printf ("*pointer2 = %d\n",*pointer2);
pointer(pointer2);

printf ("*pointer2 = %d\n",*pointer2);

/= 000000 @Oo)ooo =/

parray = malloc(sizeof(int)*10); /x 100000 =*/
/* parray[2] O parray[3] OO OO =/
*(parray+2)=-4; /* parray[2] JOO0O0O =*/
parray[3]=-5; /% *x(parray+3) DO OO0 =*/

11
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printf ("parray[2] :parray[3]=)d:%d\n" ,parray[2],parray[3]);

pointerarray (parray) ;

printf ("parray[2] :parray[3]=¥d:%d\n",parray[2] ,parray[3]);

/* 00000 =/

/* array[2] O array(3] 0000 =*/
array[2]=-6;
array[3]=-7;

printf ("array[2] :array[3]=%kd:%d\n",array[2],array[3]);

pointerarray(array); /x DO ODOO0OOOOODOOO =/

printf ("array[2] :array[3]=kd:%d\n",array[2],array[3]);

free(pointer?2);
free(parray) ;

return;

int normal(int input){
input = 100;
return 0;

int pointer(int* p){
*p = 200;
return 0O;

int pointerarray(int* p){
pl2] = 300;

p[3] = 400;

return 0O;

6.2 0OUO0on

go0bD0o00DbD0o0obD0oOoboOob0dd multioutput-samlec 000D ODOO0OOOODOOOODOO

0000000000 multioutput-sample O 0O 0O

> gce -o multioutput-sample multioutput-sample.c

12



6.3 0UUOO

gobobobooboooboobooboobobbobbooboobooboobonboo

6.4 UUOOOODO

oo’O0oo00oooo0oooooO0oooooOooooo0ooobooOoboOooooOobOOooooOboOoon

6.5 UUO4UoOOO

000030000000000000000003000000 selection3|0000000O0
pay 00 000000000000 O0ODO0OODOOOO90D0000O0OD0OODOODOODOOON
num_try:0 00000 Oselection:0 000000 Oreward:0 00000000000 OOOOO
0000000000000 0O00000O0U0O 39oooooooooo)o

1T /aksksrokokskokokkokokskokok okok ok skok ok kok ok ok skok sk sk o skok ok kok ok ok ok sk ko ok ok ok ok
2 oooooo @ooooo

3 skokskokokstokokskokktok sk skok sk ok oksk ok sk o sk sk stk sk skok sk ok sk sk sk sk sk skok ko /
4

5 #include <stdio.h> /x JO0O0O0OOOO0ODOOOO */

6 #include <stdlib.h> /x OJO00O0O0OOO00OO0OCOOO */

7  #include "bandit.h" /x OO0OD0OO0OOD0OODOOOO =%/

8

9 double play(int num_try, int* selection, double* reward);
10

11  int main(){

12 int num_arm, loop, arm_select, selection[3];

13 double total_reward, reward[3];

14

15 init_bandit(); /* 000000o00oO */

16

17 num_arm = get_arm_num();/x DO000000O00000CO =%/
18 printf ("0 000000000000 %00\n",num_arm) ;

19

20 /* 00000000000 (3000d) */

21 for(loop=0 ; loop<3 ; loop++){

22 printf ("0 0000000000 OOOODOO0O0O [1-%4]:",num_arm);
23 scanf ("%d", &arm_select);

24 selection[loop] = arm_select;

25 }

26

27 total_reward = play(3, selection, reward);

28

13
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/00000 %/
for(loop=0 ; loop<3 ; loop++){

printf("%d 00 :000=%1f\n",loop+1l,reward[loop]l);

3

printf ("0 000 :%1f\n",total_reward) ;

return O;

double play(int num_try, int* selection, double* reward){

7T O0oog
goog

(1) DO00000OO0U0DOO0OO0oooOOO
2l D00000oOo0oOoood

3l 000000 0OO0OoOooOoO
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